



Name: _____

Date: _____ Score: _____

$$(-5)^{(-1)} + (-5) =$$

$$(-1)^{(-2)} - 4 =$$

$$9^{(-1)} + 3 =$$

$$4^{(-2)} + 7 =$$

$$3^0 - (-7) =$$

$$7^{(-1)} - 6 =$$

$$(-10)^{(-2)} - 8 =$$

$$2^{(-1)} + (-9) =$$

$$(-10)^2 + 8 =$$

$$(-1)^{(-1)} - (-7) =$$

$$6^{(-1)} - 3 =$$

$$(-9)^2 + 3 =$$

$$(-6)^{(-2)} + (-9) =$$

$$5^2 - 4 =$$

$$5^{(-2)} + 1 =$$

$$9^2 - (-10) =$$

$$10^2 + (-2) =$$

$$(-5)^{(-1)} + 6 =$$

$$3^2 - (-8) =$$

$$3^{(-2)} + (-4) =$$



Name: _____

Date: _____ Score: _____

$$(-5)^{(-1)} + (-5) = \left(-\frac{26}{5}\right) = \left(-5\frac{1}{5}\right)$$

$$(-1)^{(-2)} - 4 = (-3)$$

$$9^{(-1)} + 3 = \frac{28}{9} = 3\frac{1}{9}$$

$$4^{(-2)} + 7 = \frac{113}{16} = 7\frac{1}{16}$$

$$3^0 - (-7) = 8$$

$$7^{(-1)} - 6 = \left(-\frac{41}{7}\right) = \left(-5\frac{6}{7}\right)$$

$$(-10)^{(-2)} - 8 = \left(-\frac{799}{100}\right) = \left(-7\frac{99}{100}\right)$$

$$2^{(-1)} + (-9) = \left(-\frac{17}{2}\right) = \left(-8\frac{1}{2}\right)$$

$$(-10)^2 + 8 = 108$$

$$(-1)^{(-1)} - (-7) = 6$$

$$6^{(-1)} - 3 = \left(-\frac{17}{6}\right) = \left(-2\frac{5}{6}\right)$$

$$(-9)^2 + 3 = 84$$

$$(-6)^{(-2)} + (-9) = \left(-\frac{323}{36}\right) = \left(-8\frac{35}{36}\right)$$

$$5^2 - 4 = 21$$

$$5^{(-2)} + 1 = \frac{26}{25} = 1\frac{1}{25}$$

$$9^2 - (-10) = 91$$

$$10^2 + (-2) = 98$$

$$(-5)^{(-1)} + 6 = \frac{29}{5} = 5\frac{4}{5}$$

$$3^2 - (-8) = 17$$

$$3^{(-2)} + (-4) = \left(-\frac{35}{9}\right) = \left(-3\frac{8}{9}\right)$$